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7 A | 624,171]20,135]20,249| 124,464| 4,015 4,021 561,456 18,111|22,310] 483,235| 15,588 17,263] 1,793,326| 57,849| 63,650
8 J | 618,521|19,952|20,059| 124,471| 4,015| 4,033| 555,308|17,913(19,535] 480,155| 15,489 17,129] 1,778,455 57,370| 60,484
9 A | 582,778(19,426[ 20,197 109,206| 3,640 4,021 520,034|17,334| 19,314 459,577|15,319|17,787] 1,671,595| 55,720| 58,659
10 A| 617,500 19,919] 20,409| 124,368| 4,012| 4,061| 536,883|17,31918,383] 470,064|15,163| 15,656| 1,748,815 56,413 57,711
11 A 561,319|18,711| 20,416 121,616| 4,054| 4,110] 522,990| 17,433 18,644 459,660| 15,322 15,558| 1,665,585| 55,520| 58,250
12 | 631,497 20,371]20,589| 125,476| 4,048 4,101 534,335|17,237| 19,178] 477,824|15,414| 17,228] 1,769,132| 57,069| 60,190
1 A | 635886]20,512(20,792] 126,453 4,079| 4,109| 526,598| 16,987| 17,972| 466,238| 15,040| 15,385] 1,755,175| 56,619| 57,912
2 A | 576,432|20,587(20,939] 115,067| 4,110 4,139 487,908 17,425 18,693 428,254| 15,295| 16,241] 1,607,661| 57,416| 59,123
3 A | 627,349(20,237[ 20,650| 125,612| 4,052 4,115 527,194|17,006| 17,832 463,698 14,958 15,508] 1,743,853| 56,253| 57,799
& 7| 7,299,848 20,000 20,939] 1,459,990| 4,000| 4,139| 6,381,115| 17,483| 22,310 5,591,290| 15,319 17,787| 20,732,243| 56,801| 63,650
N o o - o o
1’2;‘:) 100.0% e 100.0% o 99.2% e 102.8% e 100.5% e
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[Te)115%]

OHt#EK R
FEEERI] (BT 50 4E)
kK &
Tm?
1,200
—— LRI TifE /K&
¢ + *- -+
—— Tk R
1,000 oAt
—e— R TR
= IS /S s —
300 || == HT G 7K A \
o L A K \ —a
600
400 \
i N .
200 /
—
[F— = £l
0 @ L o
H264E H2THHE H284F H294F H304ERE
(Efir:m®)
RIS FAN 1/} T o T BoE K B W moo= AT R bAGE 3R & it
KE | fRKE BT REKR] FKE RS REKR] fKE | B RER] fAkE | R RER] fRKE | B AR fRKE | B RRR] RaRRK R | AR AReR
H264E %]
H274RfE 1,097,998| 3,000{ 4,379]  878,393| 2,400| 2,496 687,763| 1,879 2,783] 211,591 578| 1,124] 2,875,745 7,857| 10,037
H284E S 9,126| 25 87| 1,094,999| 2,992| 4,032] 872,594| 2,384| 2,493]  65,756] 180 268] 785,934| 2,147| 2,676] 295,445| 807| 1,137] 3,123,854| 8,535 10,393
H294FfE 12,711 35| 115] 1,094,997| 3,000| 4,059] 223,590 613| 1,889] 87,598 240 343] 781,567| 2,141| 2,543] 300,771| 824 1,080] 2,501,234| 6,853| 8,201
HB04 S 13,037 36 126] 1,094,994| 3,000( 5,753] 235,660| 646| 3,734]  87,596] 240 491] 750,514| 2,056| 2,443 301,811| 827| 1,420] 2,483,612 6,804 12,882

X Tk, BERET, BTHT, Rl EAGEARZEIC OV TR, PRR2TAR B I KBS B A4,
TLA T EALIR B T DU TR, SERR28FEEET H K0 KB B 4G, FRR254F BB AR TAR B F Tl fikfG 52
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[Te)115%]

@Rk

A5

Ak B

Fm3
140
130 —— T Tk i i
—— Tk

120 \ R AR a
110 / \ et AIN YT v H
100 —— T A 7K & |
90 / \ —o= M b AGE A SR K
80 / \

-

70 —— 1 ~ ~
60 W
50
40
30 —e
G ———5— > —s
20
S = = = = — = = = = e
0@ *———0—0—§ -@ @ @ @ @ -—0
4 A 5 H 6 A 7 H 8 A 9 A 10 H 11 A 12 A 1A 2 A 3 A
(Hif7 :m®)
g T Bl T T o i B K B B HT Rl BB A 2E & at
Ak 36,500 m® 1,095,000 m? 229,585 m? 87,600 m® 800,200 m? 303,430 m® 2,552,315 m®
K| ok || naa] gk || nra] ek || e ek || o] gk | el era] gk || o] ek | B | ek
4 A 00| 35| 6| 75028 2,501 2,504] 18,468 616| 20|  7.200| 240| 243| 65,541 2,185( 2,358| 25925 ses| eea] 193,211 6.440] 6,642
5 1196| 39| 62| 7753|2501 2,506] 17,166 554 563 7445 240| 242| 69,044 2,227 2,443 26,278 sas| 955| 198.665| 6,409 6,598
6 1,305| 44| 62| 119,875| 3,906| 4,004] 17,806 597| es| 7,207 40| 244|  66,156| 2,205| 2,402 24906 s30| 72| 237,345| 7912| 8,152
7 A 1576 51| 2| 130,524 a210] 5541 14,149 4s6| 689| 7445 240| 242| 66,286 2,138 2,243| 26,982 s70| 992| 246.962| 7,967| 9,287
8 H 1,083 35| 55| 124031 4001| 4,009 12881 a16| 20|  7aa8| 240| 242| 66,951 2,160[ 2,261 28662 925| 1,420] 241,056| 7,776| 8,336
9 A 896 30| 47| 122,796| 4,008| 5,753 19,554 52| 3,734]  7.204| 243| 491| e6.426| 2,214] 2,352 25,227 sa1| 23| 242,103 s,073] 12,882
10 A 76| 38| 51| 76.228| 2450| 2,504 21021 e7s| 7es|  7aa1| 2a0| 22| 63,277 2041f 2172] 24848 s0z| seo] 193,991 6,258| 6,449
1A 1053 35| 51  73,043| 2435 2452] 22,787 7e0| 77s| 72000 240| 40|  56,969| 1,899| 2,069 23760 792| s85| 184,812| 6,160| 6,406
12 A 1191| 38| 26| 75,383 2432| 2,438 24904 s03| sos|  7440| 240| 240  5s249| 1,879f 2,001 23921 772| sr0| 191,088| 6,164 6,435
1A s92| 20| 41| 75.376| 2431| 2.436| 25282 si6| s2s|  7aa2| 240| 241  57.985| 1870[ 1,942 23,844 769| 09| 190,821 6,156 6,244
2 A s89| 2| 45| 67.983| 2428| 2,434 20441 730| 32| 6692 230| 242|  sau71| 1,985| 2,00 22,233 794| s21] 172,409 6,157| 6,328
3 A 40| 24| 50| 77.191| 2.490| 2505]  21,111| es1| ess|  7.333| 237 240 so.450| 1,918| 2,053 25225 s14] s70| 191,059| 6,163| 6,306
& | 13037 36| 126] 1,094,994| 3,000| 5,753 235,660| 646| 3,734] 87506 240 a91] 750,514| 2,096 2,443 s01,811| s27| 1,420| 2,483,612 6,504 12,882
f”(g/i)? 35.7% %z}r ol 100.0% IS 102.6% RIS 100.0% IO 93.8% Bl v9mw s T G
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(BN md)

THEOFRE TSCF g Tt e kmmd m ooy SR

4 A 1,885,759 1,892,355 601,880 194,429 540,309 464,271 65,541 25,925

5H 1,970,947 1,971,888 626,911 201,111 564,291 484,253 69,044 26,278

6 H 1,956,171 1,963,624 599,145 240,156 557,339 475,922 66,156 24,906

hE 5,812,877 | 5,827,867 1,827,936 635,696 | 1,661,939 1,424,446 200,741 77,109
7H 2,051,801 | 2,040,288 625,747 254,988 575,605 490,680 66,286 26,982

8 J 2,023,490 | 2,019,511 619,604 248,502 568,189 487,603 66,951 28,662

9 H 1,947,894 1,913,788 583,674 232,002 539,588 466,871 66,426 25,227

hFE 6,023,185 5,973,587 1,829,025 735,492 | 1,683,382 1,445,154 199,663 80,871
10 A 1,949,312 1,942,806 618,676 200,596 557,904 477,505 63,277 24,848
11 A 1,875,633 1,850,397 562,372 194,659 545,777 466,860 56,969 23,760
12 A 1,961,429 1,960,220 632,688 200,859 559,239 485,264 58,249 23,921
N 5,786,374 | 5,753,423 1,813,736 596,114 | 1,662,920 1,429,629 178,495 72,529
1A 1,922,153 1,945,996 636,778 201,829 551,880 473,680 57,985 23,844

2 H 1,748,275 1,780,070 577,321 183,050 508,349 434,946 54,171 22,233

3 H 1,928,818 1,934,912 628,089 202,803 548,305 471,031 59,459 25,225

/N FF] 5,699,246 5,660,978 | 1,842,188 587,682 | 1,608,534 1,379,657 171,615 71,302
& & 23,221,682 23,215,855 | 7,312,885 2,554,984 6,616,775 5,678,886 750,514 301,811
:E % 23,175,281 | 23,183,863 7,336,500 2,555,000 | 6,663,000 5,525,733 800,200 303,430
7% g 26,745,740 | 26,745,740 4,657,400 5,267,680 | 7,881,080 | 6,567,080 | 1,277,500 1,095,000

e ARRIT, TRCIRO K BT KO fERLI,
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(A8 BRI A

Bk &

DRI i ik B (3 )
TR N RN R IR A A

4 A 876,865 968,023 547,652 464,271 63,820 171,366 3,091,997
54 911,348 998,244 572,295 484,253 67,313 180,534 3,213,987

6 H 894,231 990,277 565,153 475,922 64,653 178,766 3,169,002
N 2,682,444 2,956,544 1,685,100 1,424,446 195,786 530,666 9,474,986
7 H 937,829 1,035,145 585,007 490,680 64,836 186,867 3,300,364

8 H 917,544 1,019,789 576,503 487,603 65,434 191,061 3,257,934

9 H 856,953 920,986 548,092 466,871 64,883 175,014 3,032,799
N 2,712,326 2,975,920 1,709,602 1,445,154 195,153 552,942 9,591,097
10 H 894,030 978,753 566,629 477,505 61,914 178,317 3,157,148
11 H 862,927 960,803 548,503 466,860 55,704 170,206 3,065,003
12 H 907,699 979,831 567,505 485,264 56,962 174,517 3,171,778
A 2,664,656 2,919,387 1,682,637 1,429,629 174,580 523,040 9,393,929
1H4 889,770 953,810 551,880 473,680 56,623 169,800 3,095,563

2 H 816,232 899,415 508,349 434,946 52,696 156,125 2,867,763

3 H 888,889 986,298 548,305 471,031 58,117 170,573 3,123,213
N 2,594,891 2,839,523 1,608,534 1,379,657 167,436 496,498 9,086,539
SN 10,654,317 11,691,374 6,685,873 5,678,886 732,955 2,103,146 37,546,551

_30_




(8 R PARa /K e+ £ SE R S /K B ] 3 X

RR314E 3H31 B BIfE
BRI K &
T oMK E
3,500 ¢
8,300,364 o0 oo
3,213,987 4 166,00
, 169, 3,157, 148 3,171,778 R 3,123,213
3,091, 997 5 032 790 3, 065, 003 T
3, 000 2, 867, 763
2,500
2,040,288 9,019, 511
1,971,888 | gas go4 1,942, 806 1, 960, 220
2,000 ¥ 892, 355 [ 1,913,788 kb Lo 912
i 1, 850, 397
1, 780, 070

1,500 =
1, 000 B

500 B

0 - | _ 4 .- = | = | - = | = = | =
4H 6H 7H 8H 9H 10H 11H 12H 14 2H 3H
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R AR AR K B - 4 S MG 7K B 52 RS X

PR3 14E 3 A 31 B BLEE
B AR KRR K B
O MK &
Trd
A 3 -’;:l}- B.
40,000 1 paEene = SSOGEKR L,
37, 546, 551 ZAKHAERBEKE
35,000 |
30,000 |
25,000 |
23, 215, 855

20,000 |

15,000 F 61, 8%

11,691, 374
10, 654, 317
10, 000
6, 685, 873 6,616, 775
5, 678, 886 5, 678, 886
5,000 |
100. 0% 2,103, 146
732,955 750, 514 301, 811
_____llllE:::T62.4%
0 . =
SO aw;iing 3 b LIRSt FfHT Fig oKiE

g SFil
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(SR B UK B 9305

(HNT - md)

T RN TS I A A
4 A 270,942 849,015 0 0 0 183,568 1,303,525
5 A 285,846 895,316 0 0 0 191,283 1,372,445
6 A 294,443 817,843 0 0 0 186,180 1,298,466
7N 7 851,231 2,562,174 0 0 0 561,031 3,974,436
7 A 313,653 849,847 0 0 0 196,571 1,360,071
8 A 302,023 843,164 0 0 0 197,520 1,342,707
9 A 273,766 754,131 0 0 0 183,219 1,211,116
7N 7 889,442 2,447,142 0 0 0 577,310 3,913,894
10 H 274,588 850,869 0 0 0 189,737 1,315,194
11 H 303,747 838,845 0 0 0 182,128 1,324,720
12 H 272,550 849,436 0 0 0 185,459 1,307,445
7N B 850,885 2,539,150 0 0 0 557,324 3,947,359
1A 251,379 814,955 0 0 0 182,873 1,249,207
2 A 237,121 781,799 0 0 0 171,223 1,190,143
3 A 258,997 854,123 0 0 0 183,753 1,296,873
7N 7 747,497 2,450,877 0 0 0 537,849 3,736,223
& 3,339,055 9,999,343 0 0 0 2,233,514 15,571,912

S & % &4 &

o R OK G R E kR Z A
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9. Hah - I BEHR

(1) S5t PR
[1)1157]
QFESLMFEAHE FER] (F5H4)
wrE /TR AR PAC/R
(ke) (ke)
100,000 ‘\‘\ / 700,000
90,000 ———
1 600,000
80,000
70,000 e T — 5 4 500,000
B %
—4—DPAC
60,000 - 1 400,000
50,000
10.000 1 300,000
30,000 200,000
20,000
100,000
10,000
0 0

PAC IR LY wpEy) — 4 M IR
. (ABFE10%) (JEEE12%) (EEE20%) (100%DRY#50)

- 1 A & HEAR 1 & AR 1 A & HEAR 1o A & HEAR

(ke) (mg/1) (ke) (mg/1) (ke) (mg/D) | (kg:50%wt) (mg/1)
R 264 684,739 31.3 155,731 0.85 9,784 22.9 28,200 2.7
RO 652,803 29.8 183,282 1.00 8,118 10.3 15,300 1.7
R OBAE e 611,527 27.8 154,339 0.84 7,468 15.9 28,500 2.9
TR 294E [ 655,688 29.2 207,431 1.11 7,927 8.8 10,800 2.1
R I04EE 695,474 30.7 172,506 0.92 6,604 12.2 36,600 2.8
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[#J11%]
@S A ]

W PE/EE B mfﬁ?'@¥~§?“ PAC/IR LI
(ke) T 7 (ke)
14,000 —t=PAC — 120,000

g/ IR
12,000 <4 100,000
10,000

1 80,000

4 60,000

8,000

6,000
£

140,000
4,000
A -1 20,000
2,000 g s 14
4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3H
PAC Y/ ik ey — 4 TEMEER
e (ALEE10%) (RE12%) (FRFE20%) (100%DRY#a %)
fif I & HEAHE fifi I & AR fif & e S fifi I & HEAHE
(ke) (mg/1) (ke) (mg/1) (ke) (mg/1) | (ke:50%wt) (mg/1)
4H 46,100 24.9 12,739 0.83 153 4.6 300 3.3
5H 61,352 31.8 12,264 0.76 1,011 10.5 2,100 2.5
6 H 58,225 31.0 15,711 1.00 102 3.9 4,800 1.6
7H 63,096 32.3 16,541 1.02 863 10.2 8,100 3.0
8H 56,997 29.4 16,902 1.05 0 0.0 9,900 2.8
9H 80,410 44.1 12,011 0.79 2,500 27.8 7,500 8.3
104 65,741 34.5 14,569 0.92 810 15.3 2,400 1.7
11H 60,594 33.3 11,564 0.76 456 10.3 1,500 3.8
124 49,836 25.8 10,276 0.64 0 0.0 0 0.0
14 56,934 29.6 24,086 1.50 709 6.1 0 0.0
2H 45,726 26.0 11,873 0.81 0 0.0 0 0.0
3H 50,463 26.4 13,970 0.88 0 0.0 0 0.0
i 695,474 172,506 6,604 36,600
RIS 30.7 0.92 12.2 2.8
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SREUES

]

OF bl R FRER] (RIUL554F)

W/ TG ———— PAC/ BB A/ IR HLHE
(kg) o (ke)
1,000 I 100,000
’ P AC ’
900 —— [T A 90,000
—— i
800 \ 80,000
700 \ 70,000
600 \ 60,000
500 \/A 50,000
400 40,000
200 — — 20,000
100 10,000
0 0
ERR26HEEE SERR2TAERE SERR28AEE SERK29AREEE SRRSO R
PAC SRR IT A R itk —& T IR
i (AEFE10%) (EFE12%) (EEE20%) (100%DRY#80)
Sl ommE Ak mme A gome |pas| mae | eax]| s | as
(ke) (mg/1) (ke) (mg/1) (ke) (mg/1) (ke) (mg/1) |(kg:50%wt)| (mg/1)
2641
were| 80,003 25.6] 29,630 9.5/ 19,068] 0.73 0 0.0 60 3.6
Sk 284 i 64,830 19.3 32,253 9.6 20,801 0.74 0 0.0 40 1.4
waeom| 42,949 15.3] 30,653 10.9] 16,819  0.72 0 0.0 0 0.0
SR S04EE 50,402 18.1 34,441 12.3 16,101 0.69 0 0.0 0 0.0

X T RDO RS BRAGI T RR2TAE LN B D720 | 265 B 13 S5t L,
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SREUED!
QS A ]

wr P/ P PR PAC/REETT A/ IR HHE
(ke) (ke)
1,000 12,000
[s8suss: PR iy
1E MR 1 10,000
800 D AC
—— KT A
700 .
= K 18,000
600
500 6,000
400
4,000
300
200
2,000
100
O L L L L L L L L O
4H 5H 6H 7H 8H 9H 10H 11H 12H 1H 2H 3AH
PAC SRR TTA Y/ ik wEYy—4& T AR
e (ARFE10%) (BE12%) (FEFE20%) (100%DRY#a%)
fEfE | AR HE |EAR] FHE | EAR| FHE | EBEAR|] FHE | AR
(ke) (mg/1) (ke) (mg/1) (ke) (mg/1) (ke) (mg/1) |(kg:50%wt)| (mg/1)
4H 1,891 8.7 2,969 13.7 1,240 0.69 0 0.0 0 0.0
5H 2,345 10.4 2,718 12.1 1,074 0.57 0 0.0 0 0.0
6 H 3,480 13.3 3,343 12.8 1,511 0.69 0 0.0 0 0.0
7H 3,327 12.3 3,439 12.7 1,766 0.78 0 0.0 0 0.0
8 H 3,480 13.2 3,934 14.9 1,668 0.76 0 0.0 0 0.0
9H 4,472 16.8 3,080 11.6 1,831 0.83 0 0.0 0 0.0
104 4,147 18.8 2,659 12.0 1,335 0.72 0 0.0 0 0.0
114 7,314 34.2 2,448 11.5 1,255 0.71 0 0.0 0 0.0
124 7,201 32.8 2,375 10.8 1,132 0.62 0 0.0 0 0.0
14 5,981 27.3 2,370 10.8 978 0.54 0 0.0 0 0.0
2H 3,232 16.5 2,472 12.6 1,097 0.67 0 0.0 0 0.0
3H 3,532 16.2 2,634 12.1 1,214 0.67 0 0.0 0 0.0
H 50,402 34,441 16,101 0 0
RIS 18.1 12.3 0.69 0.0 0.0
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(2) 7B fifi 1 B 550

()17 ]

OENEHE FEH (RiL554F)

=8 [ K < K i R
— = I 7K it 25
a4 B
R —a IR
F1Wh —o— IR - R - A AR AR M
5,000
[ i —— —— —=
4,000
3,000
2,000
1,000
@ <
+ +
0 — d e b < 4
SRR 264 FE SRR TAE BE Rk 284 E SRR 294F B SRR 304F

(A7 : kWh)

wre | mokekie | dekie | ey | LR adt
ERR264F 4,443,852 597,995 19,462 241,779 5,303,088
SRR TAR 4,457,392 592,603 26,933 252,824 5,329,752
SRR 284F 4,505,896 567,673 30,592 266,211 5,370,372
SRR 294F 4,433,910 488,780 29,120 215,366 5,167,176
AR 304F 4,369,130 459,120 25,380 189,696 5,043,326
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[i#)115%]

@B HE AR

—8— UK - UK iR
= VK il X

—he— {75 JE AL i %
—— |11 - SR ALY -

A RRBR AR 57

400

./-\./I—I\./l\-/I—I\./I

300

200

100

) e H—=::—¥—£1T1

4f 5 64 TH  8A 104 118 12H 18 27
(BT : kWh)

Ao| mkewki | | e | ol g RELE o
44 361,170 38,690 1,700 16,071 417,631
5H 378,790 41,450 1,600 15,668 437,508
6 356,220 38,390 1,490 14,440 410,540
A 371,150 40,810 1,540 15,362 428,862
8H 370,260 39,940 1,170 15,229 426,599
9H 350,790 38,330 990 12,278 402,388
10H 371,560 37,650 1,130 13,897 424,237
11H 346,140 36,210 1,880 14,562 398,792
124 374,200 36,830 3,180 17,776 431,986
1H 373,570 38,020 3,540 18,715 433,845
2H 343,540 33,700 3,400 17,629 398,269
3A 371,740 39,100 3,760 18,069 432,669
it 4,369,130 459,120 25,380 189,696 5,043,326
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SRED

OENEHAE FEH (RiL554F)

E'EFEﬁ%E % —I—HX7J<ZI‘3‘/7°%%
—— 151147k 355 o )
I —— A T — ngf;iméw T T
FkWh — T L sken FkWh
1,300 40
1,100 135
1,000 1 30
900
800 = 25
700 ¢ 1 9
600
500 1 15
400
300 1 10
200 1 .
100
0 0
SRR 264F SRR QT4 BE SRR 284 E SRR 294F B SRR 304F BE
(BAZ : kWh)
s A Sofr — A =i S
R | Bkt 7| Tk ?ﬁ/ffj f_;ffj OB ke ait
SRR 264F B 0
SRR TR 161,781 1,221,480 717,420 177,973 23,596 33,836 2,336,086
YRR 284FE E 173,979 1,222,560 862,860 195,461 27,214 34,720 2,516,794
SRR 294 154,268 1,210,152 721,752 198,108 32,668 37,872 2,354,820
YRR 304E E 152,328 1,121,424 705,900 194,103 17,198 37,990 2,228,943

X a0 F KBS BRI R TN D DT80 | SER264E I EAE 2L,
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SUED!

Q@BEIEME AR

HE= =l IR T
—— 1) || 17K &
BET) ——i b7 | BRI
TkWh = R 7 Ao FkWh
120 10
110 1 g
100 /./f‘.\ N 8
N @ No——¢
80 17
70 16
60 | gyt +W M - 5
50 4 4
40 u 3
30 — - ___ ||
S o [] [ ] 12
B ib
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48 58 64 7H 84 9A 108 1A 12A 1A 28 374
(HAZ : kWh)
B w7 k| O | HCMEE | BRI ks e
41 13,706 88,728 58,716 16,673 195 2,006 180,024
5H 14,052 92,784 60,252 17,695 22 1,721 186,526
6 A 15,122 96,432 60,576 16,937 22 1,656 190,745
7H 13,476 99,768 61,368 17,273 22 2,184 194,091
8H 13,776 99,096 61,692 17,899 22 2,546 195,031
9H 11,059 86,640 54,396 16,447 19 2,418 170,979
10H 11,038 88,968 60,576 16,620 23 2,627 179,852
11H 10,728 87,216 57,072 14,854 25 2,428 172,323
12H 11,374 95,352 59,292 15,094 3,068 4,733 188,913
1A 11,597 98,664 59,424 15,074 5,023 5,181 194,963
28 12,228 89,808 53,652 14,177 4,798 5,222 179,885
3H 14,172 97,968 58,884 15,360 3,959 5,268 195,611
&t 152,328 1,121,424 705,900 194,103 17,198 37,990 2,228,943
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(D) AKE IV EN D KO FEHE R Y

OB FEYEIA H A )7 15

e A Bk CE K @R N R R |8 # % i
1| — e 100 fH/mLLLF 0 {#/mL FEYESE RS 1k
2 | KRGH BRI & BRHSNRNZE | REE B g R s
3| ARIVLKROZEDLEY 0.003 mg/LLLF 0.0003 mg/L HEREE T IR E BOWTE
4 | KERFKOFDILE 0.0005 mg/LLLF | 0.00005 mg/L TR R R
5| BEL R OZFEOLEY 0.01 mg/LLLF 0.001 mg/L FHEGE A TR H BOTE
6 | SR OZEDILEY 0.01 mg/LELTF 0.001 mg/L HERE AT TR G BOE
7| e KR PEDILEWY 0.01 mg/LELTF 0.001 mg/L HERE T I E BOWE
8 | AMlizeMba 0.05 mg/LLL T 0.005 mg/L FHEREAE T TR E BOWE
9 | HmHIEIEE R 0.04 mg/LELT 0.004 mg/L AAra<w TSI
10 | 7oA A RO LS T 0.01 mg/LLLF 0.001 mg/L AT Ia< T TT —IRANET DRI E R
11 | fHfeReEE 3R OV RRRE 22 3R 10 mg/LLLF 0.02 mg/L AAra~w TSI
12 | 7R K PEDLEY 0.8 mg/LLLTF 0.08 mg/L AF a5
13 | AR K PEDILED 1.0 mg/LLLF 0.02 mg/L FHEGE LTI H BTE
14 | DUtk 0.002 mg/LLLF 0.0002 mg/L P&T-H A0~ 7T 7 G BoHiE
15 | 1,4-VA%9 0.05 mg/LEL T 0.005 mg/L P& T-HAIa~ 7T 7 E ik
16 {;;lxigﬁj ;;j:?%/ f/w 0.04 mg/LEL T 0.004 mg/L P& T A7~ 57 B Rk
17 | Yramxzy 0.02 mg/LEAF 0.002 mg/L P&T-HAra~< 57 G B4HTE
18 | FhormnTFL 0.01 mg/LLL T 0.001 mg/L P& T-H A a~ T 7 G BoHE
19 | NiyaazFLy 0.01 mg/LLLF 0.001 mg/L P&T-HAI <N T 7B woy ik
20 | _oBr 0.01 mg/LELF 0.001 mg/L P& T-HA7a~ 7T 7 E ik
21 | R 0.6 mg/LLLT 0.04 mg/L AF a5
22 | iR 0.02 mg/LELT 0.002 mg/L R~ Ao a~ w7 T 7 E 8aiTiE
23 | 7otk 0.06 mg/LULTF 0.001 mg/L P& T-HAIu~ T 7 ERBIIHE
24 | vraufig 0.03 mg/LELT 0.003 mg/L W - 27 = ST B B TR
25 | T REI/ORAZ 0.1 mg/LLLTF 0.001 mg/L P&T-HAra~ /T 7 E 8o Hrik
26 | R 0.01 mg/LEL T 0.001 mg/L AF L ra~ T TT —IRANIT DG E
27 | R A 0.1 mg/LLLTF 0.001 mg/L FHEE
28 | N7 FEEE 0.03 mg/LELT 0.003 mg/L R - A7 a~ w7 T 7 ik
29 | TuEYrumAz 0.03 mg/LULTF 0.001 mg/L P&T-HAra~ T 7 E BNk
30 | 7rEAL A 0.09 mg/LULTF 0.001 mg/L P& T-H A a~ 7 ERIHTIE
31 | ALLATAFER 0.08 mg/LEL T 0.008 mg/L VR RS R - Ry a~ b SRk
32 | HEp K NEDILEWY 1.0 mg/LLLTF 0.01 mg/L FHEEA T TG BOWTE
33 | TAIZT AR EDLEY 0.2 mg/LLLTF 0.02 mg/L FHEREA T TR E BOWE
34 | R OZEOILEY 0.3 mg/LLLTF 0.01 mg/L FHER AT I EBOWE
35 | SR OZDILEY 1.0 mg/LLLTF 0.01 mg/L LT TR BT
36 | FRUT LR OZEDILEY 200 mg/LLLT 0.4 mg/L A A ra<w TS5k
37 | = AR OEDILAY 0.05 mg/LEAF 0.001 mg/L FHUEA T TR L BOWE
38 | WAk AA 200 mg/LELF 0.1 mg/L AA v ra~e T T
39 | AT L, S R W) 300 mg/LEA T 0.1 mg/L AA a7k
40 | AR 500 mg/LLL T 1 mg/L EREE
41 | A Somis A 0.2 mg/LLLTF 0.02 mg/L BB R o~ 57 1k

42 | A A

0.00001 mg/LLL T

0.000001 mg/L

P& T-H A~ ST B RAIHTIE

43 | 2-AF A VRN A — L

0.00001 mg/LLLT

0.000001 mg/L

P& T-H AV~ I T 78 &5y ik

44 | FeAA > FmiEER 0.02 mg/LLLF 0.002 mg/L E Rk~ T 7k

45 | 7= /—/VHH 0.005 mg/LLLTF 0.0005 mg/L BRI b 2y a~ b ST B AR
46 | AW EFERKF(TOC)D &) 3 mg/LLLF 0.2 mg/L DR F R ED:

47 | pHE 5.800 18.6LLF — HT A B

48 | Bk L N AN AN — ERiEES

49 | B BEChanze — BHEVE

50 | 5 LT 1B R E A

51 | &E 2 JELLT 0.1 ) O EREOLE AL
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QKEEH A EH H iR 7 ik

" H A 4% B R B E(&x DR R E|R g 7 %
o

1| ToFEROZEDINED 0.02 mg/LLLF 0.0002 mg/L FHER AT IAHESITE

2 | w7 ROEDILEY 0.002 mg/LLLF 0.0002 mg/L BEE AT TG EONTIE

3| = VR OEDILE Y 0.02 mg/LLLF 0.001 mg/L PO S X BT

4| 1,2-Yrunxr 0.004 mg/LUT 0.0004 mg/L P&T-HAa~r I F7 G BEA5HTE

5| b= 0.4 mg/LLLT 0.001 mg/L P&T-HAZa~< I F7 G Rorhrik

6 | 7HNBED (- T ~F L) 0.08 mg/LLAT 0.005 mg/L I - Ay o~ b7 T 7 G &5k

7 | WHMEREE 0.6 mg/LLLF - —

8 | —mafkiEizR 0.6 mg/LLLF — —

9 | YrmarEh=rin 0.01 mg/LLLF 0.001 mg/L W - R v~ 7T 7 B ik
10 | fakrmZ—n 0.02 mg/LLLF 0.001 mg/L B -T2 a~ 7T G By ik
1 | pese ohEL b T - -

12 | 7B R 1 mg/LLLF 0.02 mg/L PxF N -p-F LU DT IUE

13 | Ivsmn, <2 Rew NG 15(0) zzj iii 0.1 mg/L AF e b7k

14 | = R OZEDEY 0.01 mg/LLLF 0.001 mg/L FHER G T IAHESITE

15 | EmER R 20 mg/LLLTF 0.3 mg/L T EE

16 | 1,1,1-N)rmrp=sy 0.3 mg/LLLTF 0.001 mg/L P&T-HAra~< 77 Borhrik
17 | AFN—t—TFNT—T)L 0.02 mg/LLLF 0.001 mg/L P&T-H A0~ T 7 G BT
18 | HHEMEE(KMnO, % &) 3mg/LLUT 0.2 mg/L e

19 | RKIREE(TON) 3LT 1 HHREE

20 | HIIEE s/ L Img/L | EAE

21 | #meE 1 LR 0.1 )% Ry ek B Ik

22 | pHIE 7.5%R — HT AR

23 | HEfetE 27 1550 P — i

24 | TR 2000 fE/mLLAT 0 f&/mL R2AZE R HIYE

25 | 1,1-Y7mpxFL 0.1 mg/LLLT 0.002 mg/L P&T-HAa~rT7 G BA5HTE
26 | A= LB OFEDILEY 0.1 mg/LLLF 0.02 mg/L FHEME G T ITATEESITE
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